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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2014 › Ê≈√Ú, 2015 

¬ı̨¸±˚˛Ú ( Chemistry ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

‰¬Ó≈¬«˙ ¬ÛS (14th  Paper : Bio-Chemistry ) 

 
¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊±¬  Û”Ì«̃ ±Ú – 50 

Time : 2 hours Full Marks : 50 
[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 

Weightage of Marks : 70% 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡] ¤fl¡øÈ¬ Œõ∂±fl¡…±ø¬ı˛›øÈ¬fl¡ › ¤fl¡øÈ¬ ˝◊√√Î¬◊fl¡…±ø¬ı˛›øÈ¬fl¡ 
Œfl¡±À¯∏¬ı˛ õ∂Ò±Ú õ∂Ò±Ú ¬Û±Ô«fl¡…&ø˘¬ı˛ ¬ıÌ«Ú± ø√Ú º 10 

 [‡] Î¬◊√± √̋√¬ı˛Ì ¸˝√√À˚±À· Î¬◊»À¸‰¬Àfl¡¬ı˛ fl¡±˚«õ∂Ì±˘œ¬ı˛ Ó¬±˘±‰¬±ø¬ı 
¬ÛXøÓ¬øÈ¬ ¬ıÌ«Ú± fl¡èÚ º 

  Î¬◊»À¸‰¬Àfl¡¬ı˛ øSê˚̨±¬ı˛ Î¬◊¬Û¬ı˛ øfl¡ õ∂ˆ¬±¬ı ˝√√À¬ı – 

  [’] Î¬◊¯ûÓ¬±¬ı˛ ¬Ûø¬ı˛¬ıÓ«¬Ú fl¡¬ı˛À˘ ∑ 

  [’±] Œfl¡±ÀÚ± õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¡ õ∂øÓ¬À¬ı˛±Òœ Œ˚±· 
fl¡¬ı˛À˘ ∑   4 + 3 + 3 

 [·] ¢≠± ◊̋√√Àfl¡±ø˘ø¸¸ ¬ÛÔ ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±Á¡±˚˛ ∑ ¬ÛÔøÈ¬¬ı˛ 
¤fl¡˜≈‡œ Ò±¬Û&ø˘¬ı˛ ø¬ıøSê˚˛± Î¬◊»À¸‰¬fl¡, ¸˝√√Î¬◊»À¸‰¬fl¡ 
◊̋√√Ó¬…±ø√ ¸ √̋√À˚±À· ’±À˘±‰¬Ú± fl¡èÚ º 2 + 8 

 [‚] RNA › ¬ DNA-¬ı˛ ˜ÀÒ… Ó≈¬˘Ú±˜”˘fl¡ ’±À˘±‰¬Ú± 

fl¡èÚº RNA › DNA-¬ı˛ ^¬ıÀÌ¬ı˛ ˜ÀÒ… ¬Û‘Ôfl¡ˆ¬±À¬ı  

˘‚≈ NaOH ^¬ıÌ Œ˚±· fl¡¬ı˛À˘ øfl¡ √̋√À¬ı ∑ 8 + 2 

 [„√√] Ù¬…±øÈ¬ ’±ø¸ÀÎ¬¬ı˛ ’…±flƒ¡øÈ¬Àˆ¬˙Ú ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±Á¡±˚˛ ∑ 

¤fl¡øÈ¬ 
  

! 

C
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 ¸•Û‘Mê√ Ù¬…±øÈ¬ ’…±ø¸ÀÎ¬√¬ı˛ ·Í¬Ú ø˘‡≈Ú › 

Ó¬±¬ı˛ ’¬Ûø‰¬øÓ¬¬ı˛ Ò±¬Û&ø˘ Î¬◊»À¸‰¬fl¡ › ¸˝√√Î¬◊»À¸‰¬fl¡ 

õ∂ˆ‘¬øÓ¬ ¸˝√√À˚±À· ¬ıÌ«Ú± fl¡èÚ º 4 + 6 

 [‰¬] [’] ¤fl¡øÈ¬ ’…±˜±˝◊√√ÀÚ± ’…±ø¸Î¬Àfl¡ øfl¡ˆ¬±À¬ı øfl¡ÀÈ¬± 

’…±ø¸ÀÎ¬ ¬ı˛+¬Û±ôLø¬ı˛Ó¬ fl¡¬ı˛± ˚±À¬ı ∑ ø¬ıøSê˚˛±øÈ¬¬ı˛ 

¬ıÌ«Ú± Î¬◊»À¸‰¬fl¡ › ¸˝√√Î¬◊»À¸‰¬fl¡ ¸˝√√À˚±À· ø√Úº 

  [’±] øÚ•ßø˘ø‡Ó¬ ¬ı˛+¬Û±ôL¬ı˛&ø˘¬ı˛ ø¬ıøSê˚˛±&ø˘ ø˘‡≈Ú – 

¬Û±˝◊èÀˆ¬È¬   

! 

?
" # "  ? 

?
" # "  ◊̋√√Ô±Ú˘  

   Œõ∂±ø¬Û›Ú±˝◊√√̆     

! 

CoA
?

" # "  
?

" # "    

       

! 

?
" # "  ¸±ø'Ú±˝◊√√̆  CoA 4 + 3 + 3 
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ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡] ◊̋√√Î¬◊ø¬ı˛˚˛± ¸±˝◊√√Àfl¡˘ Œfl¡±À¯∏¬ı˛ Œfl¡±Ô±˚˛ √̋√̊ ˛ ∑ ¤øÈ¬ Ó¬±»¬Û˚« 

¸˝√√À˚±À· ¬ıÌ«Ú± fl¡èÚº 1 + 5 

 [‡] ’…±À˘±Ààø¬ı˛fl¡ Î¬◊»À¸‰¬fl¡ fl¡œ ∑ ¤fl¡øÈ¬ Î¬◊√± √̋√¬ı˛Ì 

¸˝√√À˚±À· ø˘‡≈Úº 1 + 5   

 [·] Î¬◊√± √̋√¬ı˛Ì ¸˝√√À˚±À· ˆ¬±˝◊√√¬ı˛±À¸¬ı˛ Œ|Ìœø¬ıˆ¬±· fl¡èÚº 6 

 [‚] Œfl¡±ÀÚ± ø˘ø¬ÛÀÎ¬¬ı˛ ¸…±À¬Û±øÚøÙ¬Àfl¡˙Ú › ’±À˚˛±øÎ¬Ú       

¸—‡…±¬ı˛ ¸—:± › Ó¬±»¬Û˚« ¬ı…±‡…± fl¡èÚº 3 + 3 

 [„√√] ¢≠± ◊̋√√Àfl¡±ÀÊ√Ú › à±À‰«¬¬ı˛ ·Í¬Ú·Ó¬ ¬Û±Ô«fl¡… › fl¡±˚«·Ó¬ 

¬Û±Ô«fl¡… ¬ıÌ«Ú± fl¡èÚº ¤fl¡øÈ¬ à±À‰«¬¬ı˛ ^¬ıÀÌ ’±À˚˛±øÎ¬Ú 

^¬ıÌ Œ˚±· fl¡¬ı˛À˘ øfl¡ √̋√À¬ı ∑ 3 + 2 + 1   

 [‰¬] Œfl¡±˘±ÀÊ√Ú fl¡œ ∑ ¤¬ı˛ ·Í¬Ú ¬ıÌ«Ú± fl¡èÚ › ¤fl¡øÈ¬ 

¬ı…¬ı˝√√±¬ı˛ Î¬◊À~‡ fl¡èÚ º 1 + 4 + 1 

ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡] ’±¬ıø˙…fl¡ Ù¬…±øÈ¬ ’…±ø¸Î¬ fl¡œ ∑ ¤À√¬ı˛ ’±¬ıø˙…fl¡ Ù¬…±øÈ¬ 

’…±ø¸Î¬ ¬ı˘± ˝√√̊  ̨Œfl¡Ú ∑ 1 + 2  

 [‡] 10 ø˜ø˘¢∂±˜ Œfl¡±ÀÚ± Î¬◊»À¸‰¬Àfl¡ 2 ø˜ø˘¢∂±˜ 

’…±˘¬ı≈ø˜Ú Œõ∂±øÈ¬Ú Œ˚±· fl¡¬ı˛À˘ Î¬◊»À¸‰¬fl¡øÈ¬¬ı˛ 

’…±fl¡øÈ¬øˆ¬øÈ¬ › Œ¶Ûø¸øÙ¬fl¡  ’…±fl¡øÈ¬øˆ¬øÈ¬¬ı˛ Œfl¡±Ú 

¬Ûø¬ı˛¬ıÓ«¬Ú √̋√À¬ı fl¡œ ∑ ¬ı…±‡…± fl¡èÚ º 1
  

! 

1

2
 + 1

  

! 

1

2
  

 [·] ’…±˜±˝◊√√ÀÚ± ’…±ø¸ÀÎ¬¬ı˛ ’±˝◊√√À¸±˝◊√√À˘fl¡ø¬∏Cfl¡ pH ¸•ÛÀfl«¡      

¸—øé¬5 È¬œfl¡± ø˘‡≈Úº 3 

 [‚] ’…±˜±˝◊√√ÀÚ± ¸≈·±¬ı˛ fl¡œ ∑ ¤fl¡øÈ¬ Î¬◊√± √̋√¬ı˛Ì ø√Ú º 3   

 [„] Œõ∂±øÈ¬ÀÚ¬ı˛ õ∂±Ôø˜fl¡ ·Í¬Ú ¸•ÛÀfl«¡ ’±À˘±‰¬Ú± fl¡èÚº 3  

 [‰¬] Ô±˚˛±ø˜ÀÚ¬ı˛ Î¬◊»¸, ¸˝√√Î¬◊»À¸‰¬fl¡ ¬ı˛+¬Û › ’ˆ¬±¬ıÊ√øÚÓ¬ 

Œ¬ı˛±À·¬ı˛ Ú±˜ ø˘‡≈Ú º 1 + 1 + 1 

 [Â√√√] Î¬◊øMê√øÈ¬¬ı˛ ˚Ô±Ô«Ó¬± ø¬ı‰¬±¬ı˛ fl¡èÚ – 

  ¸¬ı Œõ∂±øÈ¬Ú˝◊√√  260-280 nm Ó¬¬ı˛eÕ√À‚«…¬ı˛ ’±À˘± 

Œ˙±¯∏Ì fl¡À¬ı˛ º 3 

 [Ê√] ˘± ◊̋√√À¸±ÀÊ√±˜ fl¡œ ∑ ¤¬ı˛ fl¡±Ê√ fl¡œ ∑ 1 + 2 
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( English Version ) 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions. 10 × 2 = 20 

  A. Describe the important differences 

between a prokaryotic and an 

eukaryotic cell. 10   

 B. Describe the Lock and Key model of an 

enzyme activity with an example. 

  What will be the effect on enzyme 

activity — 

  (i) if temperature is changed ? 

  (ii) if a competitive inhibitor is    

added ? 4 + 3 + 3 

 C. What is meant by glycolytic pathway ? 

Discuss the irreversible steps of this 

pathway with enzymes, coenzymes etc. 

    2 + 8 

 D. Give the comparative study of RNA and 

DNA. What happens when dilute NaOH 

solution is added separately to the 

solutions of RNA and DNA ? 8 + 2 

 E. What is meant by 'activation of fatty 

acids' ? Write down the structure of a 

saturated 
  

! 

C
16

 fatty acid and show the 

steps of its catabolism with enzymes, 

coenzymes etc. 4 + 6 

 F. (i) How can an amino acid be 

converted to a keto acid ? Describe 

the reaction with enzyme and 

coenzyme. 

  (ii) Write down the reactions of the 

following conversions : 

     

! 

Pyruvate
?

" # "  ? 
?

" # "  Ethanol 

     

! 

Propionyle  CoA
?

" # "  
?

" # "   

       

! 

?
" # " Succinyl CoA  

     4 + 3 + 3 
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Group-B 

2. Answer any three questions. 6 × 3 = 18 

 A. Where does urea cycle occur in cell ? 

Describe the cycle with its significance. 

    1 + 5 

 B. What is allosteric enzyme ? Write down 

with an example. 1 + 5 

 C. Classify virus with examples. 6 

 D. Write down the definition of and 

significance of saponification  number 

and iodine number of a lipid. 3 + 3 

 E. Describe the structural and functional 

differences of glycogen and starch. 

What happens when iodine solution is 

added to a starch solution ? 3 + 2 + 1 

 F. What is collagen ? Describe its 

structure and mention one use of it. 

    1 + 4 + 1 

Group-C 

3. Answer any four questions. 3 × 4 = 12 

 A. What are the essential fatty acids ? 
Why are they so called ? 1 + 2 

 B. Explain whether there will be a change 
or not in activity and specific activity of 
10 mg of an enzyme if 2 mg of albumin 

is added to it. 1
  

! 

1

2
 + 1

  

! 

1

2
 

 C. Write a brief note an isoelectric pH of 
an amino acid. 3  

 D. What is amino sugar ? Give an 
example. 3 

 E. Discuss about the primary structure of 
a protein. 3 

 F. Write down the source, coenzyme form 
and deficiency syndrome of thiamine. 

    1 + 1 + 1  

 G. Justify the statement : All proteins 
absorb light of wavelength 260-280 nm.  

    3  

 H. What is lysosome ? What is its   
function ? 1 + 2   

    


